1.1

1.2

1.3

1.4

s 1.200
RL 1.500
" 1.000
12.250 | kN/m? |y wX ( g )
4.590 2 L2
> 106.893 | kN/m
v 6.953 | KkN/m
s 2.025 (2 DIN¢ )
200.000 | KkN/n?
b2 123.013 | KkN/m
DI 322.798 | kN/n?
Sy 19.605 | kN/m?
4.590 R2 L2
0.170 2 (T v 2 V)
1 32.756 | kN/m? | = (1 6 )
) 20.845 | kN/m |= @ 6 )
max 32.756 | KkN/m?
4.590 2 L2
> 64.571 kN/m
> x| 176.853| kN/n?
DI 22.602 | KkN/n?
0.094 | 2 E « V)
s 1.500
0.577 tan ¢
z 64.571 | kN/m
b2 23.358 | kN/m
1.595 > z




1.5

32.756(kN/m?)

0.094( )

2.025

1.595

4.590( ) 1/6

1.200

200.000(kN/m?)

1.500



2.1

2.2

2.3

300.000 | KN/n?
s 0.000 | KkN/m
s 0.000 | KN/
T 0.000 | KN/
0.000 R L
0.000 2 (Z + = ¢ =
0.000 | KN/m
0.000 R L
s 0.000 | kn/m
T . 0.000 | kN/m
s 0.000 | KN/
0.000 | 2 C + 32 o =
s 1.200
0.577 tan @
0.000 | KkN/m
0.000 | KN/m
s 0.000 s s
s 0.000 | KkN/m
s 0.000 | KkN/m
- 0.000 | kN s =& =
N 0.000| kN
. 0.000 | e ) =
0.000 v w
S« 0.000 | kN/m
] 0.000 | kN/m
0.000 2 (2 +Z ¢ =
0.000] KN/ |4 3 {= (2 )}




2.4

0.000(kN/?) 300.000(kN/%)
0.000( ) 0.000( ) 1/3
0.000 1.200
0.000(kN/m) 0.000(kN/m)
0.000 1.200
0.000( ) 0.000( ) 1/3

0.000(kN/m) 300.000(kN/1?)



